MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 1 – BALANCE DAY ADJUSTMENTS

1.1 Two of these items are current assets

(a) Accrued revenue and accrued expenses

(b) Accrued revenue and revenue in advance

(c) Accrued revenue and prepaid expenses √
(d) Prepaid expenses and accrued expenses

1.2 Insurance valued at $500 is paid in advance and relates to the next financial year. Is this

(a) An accrued expense

(b) A prepaid expense√
(c) Accrued revenue

(d) Revenue in advance

1.3 The closing stocktake showed a value of $21000. What balance day entry is required?

(a) Debit closing inventories credit opening inventories

(b) Debit inventories credit profit and loss

(c) Debit trading credit inventories

(d) Debit inventories credit trading √
1.4 Provide for Long service leave (LSL). Is the general journal entry:

(a) Debit LSL credit provision for LSL √
(b) Debit LSL credit cash

(c) Debit provision for LSL credit LSL

(d) Debit cash credit provision for LSL

1.5 The balances for accounts receivable are $15000, with a provision for doubtful debts of $300. Further bad debts totalled $500 and the provision is to be adjusted to 3% of the remaining debtors. Is the general journal entry:

(a) Debit bad debts $500 credit doubtful debts $500 

(b) Debit Doubtful debts $500 credit provision for doubtful debts $500

(c) Debit Doubtful debts $435 credit provision for doubtful debts $435

(d) Debit Doubtful debts $135 credit provision for doubtful debts $135 √
1.6 Commission was earned in June to be received in July in the next financial year.For the year ended 30 June, is the commission revenue ledger account

(a) Increased √
(b) Decreased

(c) Unchanged

(d) Not affected until the next financial year.

1.7 Inventories withdrawn by the owner are

(a) Debited to both drawings and GST and credited to sales

(b) Debited to drawings and credited to both GST and inventories

(c) Debited to both drawings and GST and credited to purchases

(d) Debited to drawings and credited to both GST and purchases √
1.8 The insurance account includes $400 relating to next financial year but does not include $600 owing for the current year. What is the most appropriate adjustment

(a) Make one entry to adjust for $200

(b) Add $200 into the insurance account

(c) Prepare balance day adjustments for both prepaid and accrued expenses √
(d) Prepare balance day adjustments for both prepaid and accrued revenue

1.9 Salary expense to close of business Wednesday 27 June was $135000. The next payday is on 4 July in the next financial year and the next gross pay for a five day week, Monday to Friday, is $2800.

How much accrued expense is added to the salary account?

(a) $   560

(b) $ 1120 √
(c) $ 1680

(d) $ 2240

1.10 Interest on loan for $700 is owing at 30 June and has not yet been paid. To include this as balance day adjustment is it

(a) An accrued expense √
(b) A prepaid expense

(c) Accrued revenue

(d) Revenue in advance
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